(D C A4V ".

l=l N Qg I‘L hiLthth A




e L ,r—fV-‘ + . . { s ey '}”-"

L *]"

PETE S

: ’ 3 ngk Gm\/ﬁsf‘)(oto (0\6% 2

o536

294 £a nat, dlvi<illo, kt%]% as Ets\as‘nﬂm@i}% i

/ #2596 {5 4outailble. Ly % ac To's (nst e, dlodks 83
‘ }/ﬂaliné’sﬁlotp, b% B S5 00 <5 3 = 0 P

': I}fﬁq‘QngB
4

0 320 & dfuiscble. |
v sihlo, b% B . 30

T —
W0, 0, unb ol 40 Lo Kiible, by A the g x|

5 9§ o

Bdivieible by 3 . Sy of g Jors L 9T V=% Qtel
L e E LA 5 v







e W g 1] &
BN 1 ,";j,‘-'l-, e

it

¥
&tﬁ é’ £ s Y54
s :

L e C el ,mq Qtlm&&h\‘kﬁm~
3 ;:7’_ ua . 3%@@*&‘\&&"02*’\4%"\" H-‘Fz&)’@ din @
 divtath u\'“\ + Hence,, 2083045 ek divtatlole bm < T

Ol
v 73

i
.

SUJY\ QA“A;M‘}‘Q.‘:%’*Q'\"“ q m\r\mk\% A‘N\&\UQ \ou%
Dntk dmd: s 4 AWich \v@m}}(\ e o4 3o AL\/&S(H@ \oqg

_silao]0

um(Q\AjoﬁﬂZQ“}-l=3,.u)3a$ghlg divtatble. L,
; Q © ) @ 6\

9a 3327*8

j:'_.\S, olglbs = 24 1T +3=9




20k A
664 s ot dfuteiblor by 5.

Q 1, loe . clf\rtss\\o\Q, )\n rb-ﬁj

3.0







13 uy\‘lj* Aty Qd’ 18 5. Oy, I&LJ& alen dvtallole, by ¥ TR
T Yootk 18 datdthole, \ou \5 SE J\a\_ .0
;T HOTotATa=ln o
7 < qu B’P md:&‘* \'\:@E%:—"‘é S@ \§§ (\Jo\n&\\o Q/\n\\.ox
s tmégcm)ﬂ* 18 %, S0tk s mot &m\&\\n\m \ou %
Sa \\‘ LR ok A\N\&\\o\saj'\n\;\?)
7 w502
- A2 um ot digts =510\ 13= =9, 90 d 0b ditethle \ou%
k- Mts wntk diakis > -So ik os ook \ou‘s
s (%0 & ts not divisihle. by 5
: ri)? a4 M3
GE4TMAD=104M
1 The. vxum\om ”&n(&' L divislble, \)\1\3 Mo B = 1Y
g 130, M =
. - Q
B iM=2

J4o M 4

S0 0= 20 1 M

um\aor&i%w)r 18 &L\)?SG\\Q\QJ\DQG%Y\%JDBQQQQL
= |




£, o

W\ o IG Thy

e\l

masﬂf%-};z W
//

_
Py okt




3) 5(1 M 2 | 25 Sl o _H_”_M_‘_‘”_,_‘._._——.-——-f L

g M\Z ) San ot o s = 5 H\/L”_”_ﬂ AR EL TR
13 o, o ’ Oy o Oueiy Lho(\léu ) R T
E . aaibbtombalte = (] (S +M BT & enadiier o L3
TR R i
e R e et R L mouipap . )

. __,J%.L/\‘: . B

P oo , \
B of 0dd degtks =3+4-+2=9 |
. Sun. C)g\‘ mmn&&&% = MA-Q = ‘

:.N.“N\\\\/__ Differconce,=a—"(2+ M)

i l§—Q~-M=1

.. T e oMo ~\
. M=% |
T g 8

p $F0A15 M

andSum of odd dlgtks = F 9+ 5=29|

ﬂ&nm ot ouon diathe ~0+FM=7F +M

/ Mo roncs = A1 ~(F 4+ M) i

—F=pM=0 it Q|=(3-1M |

#%b@ﬂ o bt M=14 7

H%mwl J\/\ Qanm(‘r Yoo, 190 (\mm\” o M= —\\=

I
T W4 TS
a2 A adSum of odd ¢ m@(&ﬂ A M B= A M
k. "Tsum 6F ewon dm&s—ﬁ A 1 =\
m Ditforronice = 1) ((‘A%—M\
e el o
=F5-M=D .








{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

